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The Coastal Environment
Answer all questions.

Use case studies to support your answers where appropriate.

Total for this question: 43 marks

1 (a) Study Figure 1 on the insert. Figure 1 gives information about Singapore, a country
in Asia.

1 (a) (i) Name the country to the north of Singapore.

[1 mark]
1 (a) (ii) Complete the graph below. The graph shows the value of international trade
for Singapore.
Use information from Figure 1.
[2 marks]
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1 (a) (iii) Using Figure 1 give two export products that Singapore depends on for its wealth.
[2 marks]

1 (a) (iv) Explain how coastal areas provide opportunities for the development of industry.
Use Figure 1 and your own knowledge.

[6 marks]
[SPaG 3 marks]

Question 1 continues on the next page

Turn over »
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1 (b) Describe how natural environments are being protected from economic development in
coastal areas.
[4 marks]
EXIra SPACE ..o
Question 1 continues on page 6
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Turn over for the next question

DO NOT WRITE /ON THIS PAGE
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Turn over »
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1 (c) Study Figure 2. Figure 2 shows a simplified map of part of the Dorset coast.
Different types of rock are found in this area.

Figure 2
N
l Y/ Handfast Point
Chalk
Clay/sands
- Peveril Point
Li t
imestone Durlston Head
0 1km
e — |
1 (¢) (i) Name the features on the map marked Y and Z.
Choose the correct features from the following list.
[2 marks]
spit headland bay bar
Y e
Z oo

1 (c¢) (ii) Using Figure 2 suggest how you can tell that clay/sands are softer rocks than chalk
and limestone.
[2 marks]
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1 (d) Study Figure 3. Figure 3 shows a coastal spit and the surrounding area.

Figure 3

ool

+—Z

1 (d) (i) Complete Figure 3. Write the correct term in each box from the list below.

[3 marks]

salt marsh prevailing wind

mud recurved end
1 (d) (ii) Complete the following sentence. Circle the correct answer.
[1 mark]
A spit is a feature caused by [ erosion / deposition / weathering ]
Question 1 continues on the next page
Turn over »
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1 (d) (iii) Describe the formation of a coastal spit.

You may use a diagram.
[4 marks]

Question 1 continues on page 10
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Turn over for the next question
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Turn over »
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1 (e)

1 (e) (i)

1 (e) (ii)

Study Figure 4 on the insert. Figure 4 shows the construction of part of a hard
engineering scheme in a coastal area.

Which three of the following are examples of hard engineering techniques used in
coastal areas?

Tick the three correct boxes.
[3 marks]

rock armour

beach replenishment

beach re-profiling

sea wall

gabions

beach recycling

Explain how the hard engineering scheme shown in Figure 4 will protect the coastal
area from flooding.

Use Figure 4 and your own knowledge.
[4 marks]
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1 (f) Study Figure 5 on the insert. Figure 5 shows an example of managed retreat.
1 (f) (i) Which of the two following statements are true?
Tick the two correct boxes.
[2 marks]
Managed retreat is more likely to be used in coastal areas when:
There are not many buildings on the coast
There are steep cliffs along the coastline
Main roads and railway lines run along the coastline
The land is low and flat
1 (f) (ii) Using Figure 5 on the insert to help, suggest how:
A Managed retreat allows the flood risk to be managed in local areas.
[2 marks]
B Managed retreat can create environmental opportunities.
[2 marks]
43
Turn over for Question 2
Turn over »
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The Urban Environment
Answer all questions.

Use case studies to support your answers where appropriate.

2 (a)

2 (a) (i)

Total for this question: 43 marks

Study Figure 6 on the insert. Figure 6 gives information about the growth of
megacities.

Use Figure 6 to complete the following paragraph.

Choose the four correct terms from the list below.

[4 marks]
China 5 million 7 more developed
us 10 million 8 less developed
A megacity is a city withover ... people. Between 2007 and
2025 it is estimated that ............oovvvviiiiiiiiiiiiiiiee, more megacities will develop, all
ofthemin ..o, countries. The country where the most rapid

urbanisation is taking place is ........cccccociiiiiiiiiiiiiiieiin, .
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2 (a) (ii) Complete the graph below. The graph shows the estimated population of the world’s
six largest cities in 2025.

Use information from Figure 6.
[2 marks]

40

301

Estimated
population
in2025 207
(millions)

10+

A A I A A I

Tokyo Mumbai Delhi Dhaka S&o Paulo Mexico City
City

2 (a) (iii) Name one city where the population is expected to remain the same from 2007

to 2025.
[1 mark]
2 (a) (iv) Explain why people migrate to urban areas within less developed countries.
Use Figure 6 and your own knowledge.
[4 marks]
Turn over »
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2 (b)

Study Figure 7 on the insert. Figure 7 shows part of a city in a less developed
country.

Describe the challenges caused by urban growth in cities in less developed countries.
Use Figure 7 and an example(s) you have studied.

[6 marks]
[SPaG 3 marks]

1 4
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2 (c) Study Figure 8 on the insert. Figure 8 gives information about an urban regeneration
project in a part of Birmingham, a city in the United Kingdom (UK).

2 (c) (i) Why is the regeneration project shown in Figure 8 called a ‘mixed-use’ project?
[2 marks]

2 (c) (ii) Using Figure 8 give two reasons why this part of Birmingham needed a regeneration

project.
[2 marks]
L ettt e ettt ee e e e e e e eEeeeeeeeeeeeaa e e—eteeeeeeeaaanteteteeeeeeeaaanneteeeeeeeeeaaannnneeeeeeannnnreeees
2 et e eeeeeeeeeeeeeaeEEeeeeeeeeeeeaaa—ateteeeeeeeeaanaeaaeeeeeeeeeaaannreeteeeeeannnaareeeaeenn
Question 2 continues on the next page
Turn over »
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2 (c) (iii) Suggest how the Birmingham Eastside regeneration project will:

1 Improve educational opportunities.
[2 marks]

2 Improve housing conditions.

2 (c) (iv) Use Figure 8 and your own knowledge to explain how regeneration projects can
improve the physical environment in the urban area.
[4 marks]
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2 (d) Study Figure 9, an Ordnance Survey map extract showing part of the city of Norwich.
2 (d) (i) What is the four-figure grid reference for Norwich railway station?
[1 mark]
2 (d) (ii) Identify the land use found at the following grid references.
Write your answers in the table below. One has been done for you.
[2 marks]
Grid reference Land use
204115 Golf course
285093
257129
2 (d) (iii) Rackheath (2813) is the location chosen for a new, sustainable eco-town of
5000 homes.
Complete the sentences below. Circle the correct answer in each set of brackets.
[2 marks]
The direction from Norwich city centre (2308) to Rackheath (2813) is
[ north-east / north-west / south-east ]
The distance from the edge of Norwich (2511) to Rackheath (2813) is approximately
[ 1km / 3km / 5km ]
2 (d) (iv) Suggest why people might want to live in the new eco-town of Rackheath (2813).
Use evidence from the Ordnance Survey map extract.
[2 marks]
Question 2 continues on the next page
Turn over »
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2 (e)

Study Figure 10, on the insert. Figure 10 gives information about the new eco-town at
Rackheath.

Describe some of the features that can help to make urban areas sustainable.

Use Figure 10 and your own knowledge.
[4 marks]

END OF QUESTIONS
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There are no questions printed on this page
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